Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - IV « EXAMINATION - SUMMER- 2017

Subject Code: 3342903 Date: 01-05 - 2017
Subject Name: Weaving Technology-111
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol AU,
List out the different types of weft feeler.

WAL HUEAI YsRall Age $leR shual.

What is the object of pirn changing mechanism?

Uol Aol MB[RARHe] st 9 B?

What is the need of drop box motion?

Slu ollel Hatete{l 3Ralct 3H B?

What are the objects of positive let off motion?

WAléla Az s Halotoll sl saul 8?2

List the accessories for pirn changing mechanism.

Yol Aol M3A3H 12 %33 AAUI U
What are the disadvantages of non automatic loom?

ollot A2ANEs Guoll ARGLAERA s2UL B?

What is the need of warp stop motion on loom?

G UR ald kWU Watetoll 33l g 8?

Write down any two causes and remedies of cloth defects.
stUSe(l wilalletl 518 Ul A s160 Wl GUA AWl
Write down the features of shuttle used on automatic looms.
AWRIAELS GH UR cURLdl 2A2Eall eiall ULl

List out the names of different types of jacquard tie.
WAL HMEAIL YsLRo(l 518 2leell ollH QU
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Q.2 (@  Write down the advantages and disadvantages of automatic loom.
YR () ARES dHoll SlRAEL el JRSIAEL AV,

OR
(@)  Explain the working of Mechanical warp stop motion with neat sketch.

@) A3Esa and RNu Wt sl wugld Alsd umedl.
(b)  Explain any one pirn changing mechanism with neat sketch.
(@) 818 ugl As Ul AWl MFERAH 2uglA UGBA AHxA.
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Explain the working of leveling device of Drop box.
Su alletetl Aacflol Bausuel stalyoucll unresal.

Explain the need and classification of different types of jacquard.
WA A YslRell BslSa] cldls01 M w3(RAA AHMA.

OR

Compare the shuttle of automatic loom and shuttle of plain loom.

WAAEs Wl WABet Holl 2ol ARuUHR(l 5.

Explain the use and need of multiple box motion.

HEUA ollat Hlatetoll a33lalld wal GUDN UMt
OR

Explain the working of Mechanical weft feeler with neat sketch.

B3Rsd Ase sletrell stelyucll 2usld W A A,
Write short note on Norwich tie and London tie.
Al 218 WA EAsel 2e UR &5alltd Gl

OR
Explain the Roper let off motion with neat sketch.

AUR A2 Als Hllelad vuslQ Uuldd Al

Explain the working of Electrical weft feeler with neat sketch.

Al sA Ase $ldRell stiuauell us@ A’ wMestAl.

Explain the working of SLSC jacquard with neat sketch.
SLSC ®BstSell stynucll 2usld uldd wxesal.
Explain the Eccle’s drop box motion with neat sketch.
85c QU ollet Mot wsld Ut Al
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